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Instructions

= Answer ALL questions. Write your answers in the spages

= Show your working to get marks. You may use a non-

rogrammagle scientific calculator.

Question 1
CLO1, €1 [1 mark]
\_~(a) Fill in missing index number.
2' X 24 = 25 = 210

cLotes 0 E [2 marks]
~—(b) Simplify the indices in the lowest form. )

8 x (89 + 83
Question 2 i
CLO1, C1 il Y {1 mark]

{a) Rewrite the expression as single exponent.

192 X +19%

€LO1;C2 [3 marks]
(b) Simplify the following indices in the lowest form.
2n+2 X 43-211
g3n
Question 3
CLO1,C3 [3 marks]
Calculate the following without using calculator.
3x—2 = 27x+4-
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Instructions ( O

= Answer ALL questions. Write your answers in the spaces proyided.
»  Show your working to get marks. You may use a non-programmable scj

Question 1

CLO1,.C1 [1 mark]
(a) Fill in missing index number.
2kt s g il

CLO1, C2 [2 marks]
(b) Simplify the indices in the lowest form.
8 x (8%)* +83
Question 2
CLO1,C1 [1 mark]

(a) Rewrite the expression as single exponent

192 x 1993 19%

CLO1, C2 [3 marks]
(b) Simplify the following indices in the lowest form.
2n+2 X 4_3—211 .
g3n
Question 3
CLO1,C3
Calculate the following without using calculator.
3x—2 = 27x+4
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Instructions
=  Answer ALL questions. Write your answers ki _thespaces provided.

*  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1,.C1
(a) Fill in missing index number.
2“ X 24 £ 25 - 210

CLO1,C2
(b) Simplify the indices in the lowest form.
8 x (82)* + 83
Question 2
ELO1;CL

(a) Rewrite the expression as single exponent.
192 x 199 + 194

CLO1; 62
(b) Simplify the following indices in the lowest form.
2042 i 4372n
o gan
Question 3
CLO1, C3
alculate the following without using calculator.
k 3x—2 = 27x+4
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Instructions
= Answer ALL questions. Write your answers in the spaces provi
=  Show your working to get marks. You may use a non—programma

Question 1

CLO1,C1 [1 mark]
(a) Filli in missing index number.

My 24235 = Q10

CLO1, C2 . [2 marks]
(b) Simplify the indices in the lowest form.
8 x (8%)* + 83

Question 2

CLOL, cL 1 mark]
(a) Rewrite the expression as single exponent.
192 x 199 + 19*

CLO1,C2 [3 marks]
(b) Simplify the following indices in the lowest form.
2n+2 X 4_3- n

83",
Question 3
CLO1, C3 [3 marks]
Calculate following without using calculator.
l 37(—2 = 27x+4-
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Instructions
= Answer ALL questions. Write your answers in the spaces provi

=  Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1,C1 [1 mark]
(a) Fill in missing index number.
2 % 2t =28 =210

CLO1, C2 ) [2 marks]
(b) Simplify the indices in the lowest form.
8 x (8%)* +83
Question 2
CLO1,C1 [1 mark]

(a) Rewrite the expression as single exponent.
192 x 199 + 19*

CLOZ, C2 [3 marks]
(b) Simplify the following indices in the lowest form.
oM+2 5 43-2n .
g3n
Question 3
CLO1, C3 [3 marks]
Calculate the following without using calculator.
G 3x—2 = 27x+4-
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Instructions

*  Answer ALL questions. Write your answers in the spaces provided.
= Show vour working to get marks. You may use a non-programmable scientific calculator.

Question 1

CLO1; C1 [1 mark]
(a) Fill in missing index number.
F- %= R =0

CLO1,C2 {2 marks]
(b) Simplify the indices in the lowest form.
8x (8)*+83
Question 2
CLo1,C1 [1 mark]

(a) Rewrite the expression as single exponent.
192 x 199 + 194

CLOo1, €2 [3 marks]
(b) Simplify the following indices in the lowest form.
2n+2 X 45-»271 .
8371 =
Question 3
CLO1, C3 [3 marks]

Calculate the following without usirg calculator.
3x—2 = 27x+4
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Instructions

Answer ALL questions. Write your answers in the spaces provided.
Show your working to get marks. You may use a non-programmable scientific calculator.

Question 1
CLO1,C1 [1 mark]
(a) Fill in missing index number.

2 ?<7724‘ w28 =pih

CLO1, C2 i [2 marks]

(b) Simplify the indices in the lowest form. X
8 X (89} + 8°
Question 2
CLO1, C1 [1 mark]
(a) Rewrite the expression as single exponent.
192 x 199 = 19*
[3 marks]

CLO1, C2

(b) Simplify the following indices in the lowest form.
2n+2 X 43-—271

83n
~ Question3
CLO1,C3 [3 marks}
Calculate the following without using calculator.
3x—2 = 27x+4
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